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PROVISIONAL ANSWER KEY

Paper: Eligibility Test Jr Asst KSFE
Date of Test 25-09-2024
Questionl:-The first major struggle of social reforms in Kerala?
EHEBOTIORI TGO IFlYEEMATIBOO ERBOOD @JWIM GaldEIFe?
A:-Attingal Rebellion
@RFEBRTR Baldal
B:-Salt Satyagraha
o] TVOPRWaO0
C:-Guruvayur Satyagraha
DBOIQYAR TVOPWaNo
D:-Vaikom Satyagraha
86QE e TP 0o
Correct Answer:- Option-A
Question2:-Who is the first woman DGP in Kerala?
CHESOTIOR! @Ry AUl wl.gl.ofl. @reoem?
A:-Sreelekha
wlealsy
B:-Kiran Bedi
Slo6m esnid]
C:-Merin Joseph
oa0ImM eOTVad
D:-Sandhya
avmwy
Correct Answer:- Option-A
Question3:-Twenty-Twenty World Cup Cricket winner in 2024
2024 ea1 sid3-20 candda] @leg emmoenud
A:-Australia
aoempelw
B:-England
Do
C:-South Africa
cesflemoadlen
D:-India
vy
Correct Answer:- Option-D
Question4:-Who introduced Kudumpasree in India?
B:506NIUDIOW LMW @RAME]4I0Y @RE?
A:-Indira Gandhi
eoadleo womusl
B:-Narendra Modi
meE@3 620dl
C:-A.B. Vajpayee
ag).enll. Qosdeal]
D:-Manmohansing
2MBEROOMISloty
Correct Answer:- Option-C
Question5:-Rice cultivation area below the sealevel
g8 MEAJ0Y ®Ie9Qss eEM@G @Eawo
A:-Chittoor
gﬂgé
B:-Mananthavadi
2OMAIOS]
C:-Kuttanad
gMOS’
D:-Nenmara
MMIO
Correct Answer:- Option-C
Question6:-World Environment Day
610d aldlmudlol dlmoe
A:-August 5
®0nqy 5
B:-October 5
8650603 5
C:-July 21
meenl 21
D:-June 5
e 5
Correct Answer:- Option-D
Question7:-Which State has a toilet for every family?
B MVMUOIMEIETY GG B:FoENITTTIMBe UV 2RIV OSS®?
A:-West Bengal
alvaila newnoud
B:-Hariyana
an@I@Im
C:-Kerala
CHOBo
D:-Tamilnadu
@algos’
Correct Answer:- Option-C
Question8:-Who is known as Kerala Lincon?
ee08 ellid agMEleeSIMmo @roem?
A:-Vaikunda Swamikal
606 LA
B:-Pandit K.P. Karuppan
alemulg’ ©. all. @Qajmd
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C:-Chattampi Swamikal
gl arusdleud
D:-K. Kelappan
6. CHBafd
Correct Answer:- Option-B
Question9:-Who fought the first rebellion against British revenue system in Kerala?
@fISlest oaimy TUOYBIRATOMTOO EHESOTIM @RIV &Il MSOTIWE @RYEIEM?
A:-Pazhasi Raja
aleudleom
B:-Paliyathachan
aloelloom.g)m
C:-Veluthampi
cagjommil
D:-Marthandavarma
20BOmITWAIRED
Correct Answer:- Option-A
Question10:-What is Portugal's most famous architecture?
cruorﬁgdmaﬂsael ABQ0Ye (@JUOTYRID msrrgoﬂ@‘g aB@o6m?
A:-Gothic style
enadles eevoel
B:-Rock-cut architecture
€00~ @5 aoayaley
C:-Romanask
©0020MaTY’
D:-Karolingian style
Beedel.uilwm eeuveal
Correct Answer:- Option-A
Question11:-Who is the father of the Renaissance?
MEU@OOMOETBOO al@oal @ryoosm?
A:-Davinci
cwoalleil
B:-Petrarch
©alSoREs
C:-Rajaram Mohan Roy
©92300%0 GRANM OO
D:-Sree Narayana Guru
@WIMIEIWEM V@3
Correct Answer:- Option-B
Question12:-Which number was Smt Droupadimurmu in the line of President in India?
mylear e0agaIolges Mlowlad WWaol 6EIFRAY ) @IVOOD EIYaIdlWos?

A:-15
15

B:-16
16

C:-17
17

D:-18
18

Correct Answer:- Option-B
Question13:-Father of Modern Travancore
@RWMe: dlaalmo.gdlidec almoal

A:-Sree Chithira Thirunnal
W) alovile @lmmoud

B:-Marthandavarma
20BE»IEMLIG2A

C:-Velu Thampi
eaie) mmil

D:-Avittom Thirunnal
@nallse @lamoud

Correct Answer:- Option-B
Question14:-Which state is called the sugar bowl! of India?
DMYSS YN HENIDUB afIMAIWEYFIM MVMOIMo ag@oem?

A:-Maharashtra
mnno{aang

B:-Hariyana
an@@Im

C:-Uttarpradesh
OOMA (JEBUWS

D:-Punjab
aleruoent’

Correct Answer:- Option-C
Question15:-Who was the first Governer of Kerala?
CHESOTIOL! @RRIOOD® AIBIMA EREIVIMo?

A:-V.V. Giri
all.all. W@l

B:-Ramdulari Singha
®203210@1 Mladan

C:-Ramakrishna Rao
@I&HqH OO0y

D:-Sikhandar Bakth
mlenamd @

Correct Answer:- Option-C
Question16:-Who is the Youngest Nobel Peace prize winner?
MIBOWIMOTIMPSS aBQYo @IOWo HOETIM EMIENIAS MVEBOM GRMIQT @ry©oem?

A:-Amarthya Sen
@R2AB®Y HIVM

B:-Ravindranath Tagore
eAll@moln soe!od
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C:-Narges Mohammadi
MBS gaoend]
D:-Malala Yusuf Sai
2e198] @Tad Mol
Correct Answer:- Option-D
Question17:-What was the first railway route in India?
mi@ilen @R HOWIMEN QS ag®m?
A:-Delhi to Mumbai
W@l YOTD PoeOET AUOD
B:-Bombay to Thana
[HTRT0]) @@Klﬁ @AM QUe©
C:-Culcutta to Mumbai
HOEF YO PoOOEN! AUB®D
D:-Punjab to Bombay
Al6rI06NT YT GENIEET QU
Correct Answer:- Option-B
Question18:-Which river is known as English Channel of Kerala?
CHEBODIORI Doyflat 20M@ agMAWEnSTN ME] ag@os?
A:-Kabani
@6nuan]
B:-Kannadipuzha
@sggos’lndg
C:-Mayyazhipuzha
m@@'lqdv
D:-Kallaipuzha
©g0floje
Correct Answer:- Option-C
Question19:-Where is Central Tuber Crops Research institute situated?
e BSle@RAlE 1EQIAHEM MNdalMo agallesosm mudlai] amqycm@”?
A:-Mannuthi
26
B:-Vellayani
Qs8]
C:-Sreekaryam
[CES 1T
D:-Palode
aldGalds
Correct Answer:- Option-C
Question20:-Who among the following attended all the three Round Table conferences?
©6PaoOQMAIRITS @REIST Gar’ AIgeare MueIESMBRERj alOBFOOO?
A:-B.R. Ambedkar
enil. GRA@. @oeNIEEA
B:-Jawaharlal Nehru
2QIa0BRIOM OMaBQ
C:-Dr. Rajendraprasad
BOWI. EIEBWM3JMVIE
D:-Sardar Vallabai Pattel
aUARIAB QIRIRIW) ale5Md
Correct Answer:- Option-A
Question21:-Who founded Sadhu Jana Paripalana Yogam?
TVIUY WMNAIBlalORIN EWIW. MNdAlgi®) @RYEIEM?
A:-Pandit Karuppan
aleMUIg &Qaad
B:-Chattampi Swamikal
gl arosoaleud
C:-Ayyankali
@PWE08]
D:-Sree Narayanaguru
UBIMOEIWEMYV®
Correct Answer:- Option-C
Question22:-Who is the current minister of woman and child welfare in India?
mleal e 0ee0m ANl (Hlwesrn aQD @REoEM?
A:-Smriti Irani
mgm)’l ool
B:-Veena George
aflemn e300
C:-Mamtha Banerji
20® 6nomAed
D:-Annapoorna Devi
@RmMaydsm eaall
Correct Answer:- Option-D
Question23:-Who was the leader of INA women regiment?
6af)ag)Bag) AM®O HoHleamdclmen enmIal @reIlmme?
A:-Captain Lakshmi Sahgal
Balgd a1egll Muadnad
B:-Vijayalakshmi Pandit
aleweisg] alemuily’
C:-Sarojini Naidu
aueeo=lm] mowloy
D:-Savitribai Phule
avoall@lenne agees
Correct Answer:- Option-A
Question24:-When did the Human Rights commission start in Kerala?
)G 096N CBHEBOTIM DMAULAIB:000 BealcUd @Y©oEloi®?
A:-2008
2008
B:-1998
1998
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C:-2003
2003
D:-2001
2001
Correct Answer:- Option-B
Question25:-Who is the current leader of the opposition in India?
DMIDIOL! ELOTD TlaldY eM@IQS @R©oem?
A:-Naveen Patnaik
mafld aismowsles’
B:-Ombirla
8300601138
C:-Rahul Gandhi
©000@d omusl
D:-Bhartruhari Mahtab
BAQaOE| BaOmOeNT
Correct Answer:- Option-C
Question26:- of us knew about the mishap.
A:-None
B:-Somebody
C:-Anybody
D:-No
Correct Answer:- Option-A
Question27:-I'd better not
A:-leaving
B:-left
C:-leave
D:-to leave
Correct Answer:- Option-C
Question28:-Visitors to touch the exhibits.
A:-was not allowed
B:-will not allowed
C:-is not allowed
D:-are not allowed
Correct Answer:- Option-D
Question29:-Which of the following is correctly spelt?
A:-Bureaucracy
B:-Bereaucracy
C:-Buereacracy
D:-Bureaucrasy
Correct Answer:- Option-A
Question30:-Pass me the salt, ?
A:-do you?
B:-won't you?
C:-don't you?
D:-are you?
Correct Answer:- Option-B
Question31:-Raghu me of a boy | used to know.
A:-remembers
B:-recalls
C:-recollects
D:-reminds
Correct Answer:- Option-D
Question32:-The boys forgot to take
A:-they're
B:-there
C:-their
D:-they
Correct Answer:- Option-C
Question33:-Do not speak ill of a person his back.
A:-behind
B:-on
C:-at
D:-by
Correct Answer:- Option-A
Question34:-A short story based on personal experience
A:-Anecdote
B:-Antidote
C:-Autobiography
D:-Biography
Correct Answer:- Option-A
Question35:-He was compelled to
A:-carry on
B:-carry out
C:-carry away
D:-carry off
Correct Answer:- Option-B
Question36:-Here my test scores.
A:-is
B:-was
C:-did
D:-are
Correct Answer:- Option-D
Question37:-Some governments are than others.
A:-the worst
B:-more worse

bags from the class.

my bag there. Someone might steal it.

the orders of his superiors.
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C:-more bad
D:-worse
Correct Answer:- Option-D
Question38:-The more we saw, the we could believe.
A:-least
B:-less
C:-little
D:-fewer
Correct Answer:- Option-B
Question39:-Pick the odd word from the list given below
A:-Common
B:-Usual
C:-Strange
D:-Regular
Correct Answer:- Option-C
Question40:-Select the word that is a synonym of QUOTE
A:-Cite
B:-Sigh
C:-Sight
D:-Sue
Correct Answer:- Option-A

Question41:-The man daughter won the tournament is a tennis coach.

A:-who's
B:-whose
C:-who
D:-which
Correct Answer:- Option-B
Question42:-Select the most appropriate antonym of INSTANT
A:-Immediate
B:-Soon
C:-Delayed
D:-Prompt
Correct Answer:- Option-C
Question43:-Pick out the only sentence which is in the correct word order
A:-She never is late to class
B:-I have seen never that girl before
C:-My parents are next summer thinking about buying a dog
D:-I cycle to school every day
Correct Answer:- Option-D
Question44:-If the child medical attention he would survive.
A:-received
B:-will receive
C:-would receive
D:-receives
Correct Answer:- Option-A
Question45:-Use a mask as a precaution Corona Virus.
A:-for
B:-against
C:-to
D:-from
Correct Answer:- Option-B

http://192.168.1.6/dept/modules/marklist/answe...

Question46:-""What are you doing tomorrow?" he asked his friend. Select the most appropriate indirect form of the given sentence.

A:-He asked his friend what he was doing tomorrow
B:-He asked his friend what was he doing the next day
C:-He asked his friend what he was doing the next day
D:-He asked his friend what are you doing the next day
Correct Answer:- Option-C

Question47:-Select the incorrectly spelt word
A:-Committee
B:-Colloborate
C:-Connive
D:-Corporate
Correct Answer:- Option-B

Question48:-Which of the following words is in the plural form?
A:-Curriculum
B:-Cactus
C:-Mice
D:-Radius
Correct Answer:- Option-C

Question49:-No parents would turn a blind eye to their children's misdeeds. Choose the correct meaning of the idiom 'turn a blind eye'.

A:-be angry

B:-be sad

C:-ignore

D:-to give a warning

Correct Answer:- Option-C
Question50:- only student who secured an A grade is my friend.

A:-the

B:-an

C:-no article

D:-a

Correct Answer:- Option-A
Question51:-Which is an irrational number?
QBTEGIGRO® o6y aB@I6?

A sqrt((12)/(3))°
“sqrt((12)/(3))°
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B:-"sqrt50/sqrt2”
sqrt50/sqrt2”

C:-'sqrt(2xx32)"
‘sqrt(2xx32)°

D:-"sqrt((24)/(3))
“sqrt((24)/(3))

Correct Answer:- Option-D

http://192.168.1.6/dept/modules/marklist/answe...

Question52:-How many odd numbers are there between 1 and 100 which are exactly divisible by 7?

7 oa06rE @Oy alleedlaroqyom Lave 100me os©lod ag@ 69 Meuyeud Deng?
A:-14
14

7
15

6

Correct Answer:- Option-B
Question53:-Which fraction is equal to "(3)/(4)" in the following fractions?
®969aj0man Eanausayeelad " (3)/(4)" o @eymo Eanausealy agamosm?

A= (2)/(3)°
“(2)/(3)

B:-(9)/(16)°
(9)/(16)°

C:-*(6)/(8)°
*(6)/(8)

D:-*(4)/(3)
A3y

Correct Answer:- Option-C
Question54:-Value of "273+19-9xx21-:7xx3" is
"273+19-9xx21-:7xx3" @eo gele

A:-0
0

27

36

D:--54
-54

Correct Answer:- Option-D
Question55:-Which is the mode of the marks ?
13,2,10,8,13,2,7,2,9,7,2
20REFMBOO GBI aB@ET?
13,2,10,8,13,2,7,2,9,7,2

A:-2
2

9
15
10
Correct Answer:- Option-A

Question56:-What is the remainder, when 328 x 143 is divided by 5?
328 X 143 om 5 6@06ME a0@les6mIoud WWlayo ag@@oem?

A:-3
3

B:-2
2

C:-1
1

D:-4
4

Correct Answer:- Option-D

Question57:-Which of the following binary numbers, is equal to ten based number 10?

@OOPJOQID ©6ENMA] MVaUBEId B alow @RSITLNIMAEIQEs M.y 10 af @aimoen?

A:-"(1010)_2°
*(1010)_2"
B:-"(1001)_2°
*(1001)_2°
C:-"(1100)_2"
*(1100)_2"
D:-*(0110)_2"
*(0110)_2°
Correct Answer:- Option-A
Question58:-HCF of 48 and 80
48 meogw 80 Meoxp ©.qvo.oal
A:-240

16

Correct Answer:- Option-D
Question59:-Which is the next number of the series 0, 7, 26, 63, ......... ?
0,7,26,63, ......... adlmdler! @RFO® Moty aB@O6M?
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86

Correct Answer:- Option-C
Question60:-Which, of the following fractions, is between *(3)/(7)" and “(7)/(3)'?
®0e9ajoqyn Ameasgled agmosm (3)/(7)" o " (7)/(3)" mo mseilejpen?

A= (2)/(7)
N7
B:-'(19)/(4)"
(19)/(4)
C:-*(5)/(6)°
“(5)/(6)
D:-"(3)/(10)
(3)/(10)°

Correct Answer:- Option-C
Question61:-What is the mean of the scores 21, 22, 25, 30, 22 ?
21, 22, 25, 30, 22 e1poge:ges 1eowdl ag@wosm ?

A:-24
24

22

25
D:-25.5
255
Correct Answer:- Option-A
Question62:-Value of "(1-1/3) (1-1/4) (1-1/5) (1-1/6).....(1-1/10)" is
*(1-1/3) (1-1/4) (1-1/5) (1-1/6).....(1-1/10)" meo geie
A:-'9/10°
'9/10°
B:-'1/5°
'1/5°
C:-'1/10°
‘1/10°
D:-1
1
Correct Answer:- Option-B
Question63:-Value of *(274xx27-2xx270)/(27~-1xx27°2)" is
(274xx27-2xx270)/(27-1xx27°2)" meo geie

A:-2
2

B:-8
8

C:-0
0

D:-1
1

Correct Answer:- Option-A
Question64:-What is 20% of 125 ?
125 meo 20% «g©?
A:-20
20
B:-25
25
C:-625
625
D:-600
600
Correct Answer:- Option-B
Question65:-The cost of one table and 3 chairs is Rs.3,400. The cost of one table and 5 chairs of the same type is Rs.4,800. What is the cost of one
table?
1 caco@esQs 3 eemesgesy. alal 3,400 @G @rem. ace ceoviajes 1 cavqesap 5 eemesgespo aller 4,800 @awoem. 1 cawges allel ag@wosn?
A:-700
700
B:-800
800
C:-1200
1200
D:-1300
1300
Correct Answer:- Option-D
Question66:-30 men can do a work in 40 days. How many men are need to complete the work in 12 days?
30 oymarmodes 40 dame 6@:06E 6@ e20el 6.21Q0m &Flgo. 12 dlaimie 6806 ezoell oj@EI@IEHIM af@ o@BaHmIB EalEmMoe?
A:-16
16

Correct Answer:- Option-C
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Question67:-Value of “(0.1xx0.001xx1.1)/(0.01)" is
*(0.1xx0.001xx1.1)/(0.01)" -ae0 geye
A:-0.1
0.1
B:-0.01
0.01
C:-0.001
0.001
D:-0.011
0.011
Correct Answer:- Option-D
Question68:-What is the 21th term of the sequence 5, 13, 21, ...... ?
5,13, 21, ...... cosmialeal 21-::006@0m alGo agamosm ?
A:-165
165
B:-160
160
C:-180
180
D:-162
162
Correct Answer:- Option-A
Question69:-Which is odd one in the following numbers?
@IOPORQRAD MeUBHEITS BQeas BT ag@oem?
A:-27
27
B:-125
125
C:-60
60
D:-8
8
Correct Answer:- Option-C
Question70:-If *sqrt(625)=25", then "(2.5)"2" is
'sqrt(625)=25" eresm@lad (2.5)72° AR&HD.
A:-62.5
62.5
B:-'quadsqrt(6.25)"
‘quadsqrt(6.25)°
C:-"quadsqrt(62.5)"
“quadsqrt(62.5)°
D:-6.25
6.25
Correct Answer:- Option-D
Question71:-Which is equal to “quad(1)/(sqrt(2)+1)" ?
“quad(1)/(sqrt(2)+1)" -y @aaoeny
A:-"quad(sqrt(2)-1)/(1)°
“quad(sqrt(2)-1)/(1)°
B:-"quad(sqrt(2)+1)/(1)
‘quad(sqrt(2)+1)/(1)°
C:-"quad(sqrt(2))/(sqrt(1))
“quad(sqrt(2))/(sqrt(1))’
D:-"quad(sqrt(2)+1)/(sqrt(2)-1)"
*quad(sqrt(2)+1)/(sqrt(2)-1)°
Correct Answer:- Option-A
Question72:-What is to be divided the product of -10 and 6 to get -15 ?
-15 ed@manaia -10, 6 agmilages wenmeom @06 alleadlamemo.
A-4
4
B:--4
-4
C:-*(1)/(4)
“(1)/(4)
D:-*(-1)/(4)"
“(-1)/(4)
Correct Answer:- Option-A
Question73:-The difference between the simple interest and compound interest for an amount after 2 years is Rs.160. If the simple interest for 2
years is Rs.4,000. What is the rate of interest?
2 aidasomioerentc HO DSWYSS MIWREM alelteny ggaeltw. @adaes aympPMo. 160 @awos. 2 adacomesgs mowesm arlw 4,000 @auwossmele, wealve mles
g @@oem?
A:-4%
4%
B:-6%
6%
C:-8%
8%
D:-20%
20%
Correct Answer:- Option-C
Question74:-Which of the ratios given below is not equal to 3:4 ?
2JA6S N@BDEERMM @M lad ag@osy 3:4 o @epgpomo ?
A:-12:16
12:16
B:-6:8
6:8
C:-18:24
18:24
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D:-9:16
9:16
Correct Answer:- Option-D
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Question75:-Distance travelled is 390 km and time taken is 3 hours and 15 minutes. What is the average speed?

usmidlal goe 390 @leandlgqe agesam avaw. 3 asilgsd 15 dlafigaoars. weeowel cainm g @@oem?
A:-130 km/hr
aeflgadiad 130 sleandgd
B:-120 km/hr
aenlgadiad 120 sleendgd
C:-150 km/hr
aeflgadiad 150 sleandgd
D:-100 km/hr
aenlgadiad 100 slecndgd
Correct Answer:- Option-B
Question76:-Wavelength longer than visible light
B0} (JBOUREOMENIUB MBoNOOBRWLIH @S oo
A:-Ultra Violet
@RUISI QIelg
B:-X-rays
X-slesmeanud
C:-Radio waves
couled MEWEBRUY
D:-Gamma Rays
0?0 BlEEMEBRUD
Correct Answer:- Option-C
Question77:-'Minamata' - Causing disease
'dmeo®' - eEINOEDIM &IEEMROEM®Y
A:-Mercury
oA
B:-Lead
eriuy’
C:-Arsenic
@RAauiley
D:-Tin
sl
Correct Answer:- Option-A
Question78:-It is the process of thickening the oxide coating on the surface of aluminum
@redlNlOwlBe0 SalElmaloTion @RAEIM2ID B6OGUIMOO &S &gm J&losTy
A:-Galvanizing
NO@BUOOHMAVloUY
B:-Anodizing
@PEMIOSWMloUY
C:-Cladding
oUWl
D:-Leaching
eflaflovy
Correct Answer:- Option-B
Question79:-Which is the monomer of polyethylene?
CaGlOBIMBEO EREMACO®?
A:-Ethane
eDEINM
B:-Acetylene
@nmugleliad
C:-Methane
delnyad
D:-Ethylene
agidlefad
Correct Answer:- Option-D
Question80:-Which of the following elements is not a constituent of the alloy 'Alnico'?
069 OBISOMAURIEB '@ATEED af)(M ERI00 TVB:EOTIMBEO ARISGHAGODI) PRIBEAD?
A:-Aluminum
@negjallailee
B:-Cobalt
©B061003g
C:-Copper
[N )
D:-lron
@O
Correct Answer:- Option-C
Question81:-The substance known as ‘wolfram’
'QJuBiee’ el alB0B@N.
A:-Nickel
alend
B:-Nichrome
ale@oo
C:-lron
@6
D:-Tungsten
serqyend
Correct Answer:- Option-D
Question82:-Which of the following is not a non-metal?
0OPJOQINARIGE DalERI0a0NZI0OMED® ?
A:-Carbon
& 0Beruend
B:-Boron
G6ENIOBOI6D
C:-Silicon
adleflenend
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D:-Germanium
omddmlwe

Correct Answer:- Option-A
Question83:-Metal used in the process of vulcanisation of rubber
osniolmdeo adseememuaum (Volcanisation) w@lool@ gaewoslesmm @oeanans

A:-Phosphorus
GaDIMROMY

B:-Sulphur
muuBand

C:-Carbon
& 0denIend

D:-Silicon
avlellanend

Correct Answer:- Option-B
Question84:-The unit used to indicate the power of a lens
62BmIMe0 alaid Myallaflenomd palcoullesmm ey’

A:-Watt
Qg

B:-Farad
N

C:-Diopter
Wewoald

D:-Decibel
HWMIIeENITD

Correct Answer:- Option-C
Question85:-A time-velocity graph
8T MR - TVAEJEAUW WIald

A:-Perpendicular to time axis
MO @RBHUOTIM LloeNIAVGlERo

B:-The velocity will be parallel to the axis
(@B @, oy V200w E20WIE!

C:-Will be parallel to time axis
MO @RBHUOTIM TR E2IWIE] R

D:-None of these
@ma@omm%

Correct Answer:- Option-C
Question86:-Instrument used for calculating electricity consumption
£6QIBYD® DaltEI. HEMEIEBM DM DaleIUIEBM Dald@6Mo

A:-Galvanometer
»o@dauemadiiod

B:-Volt meter
caudg dlgd

C:-Altimeter
@prugldigd

D:-Watt hour meter
ang aoad dgd

Correct Answer:- Option-D
Question87:-Waves used in night cameras that take photos at night
V@@ GaNOESD Af)FERM BHIPA0OBEITB DalCIUIARMN O EUIEBRUD

A:-Ultraviolet
@RUISINIDAIY

B:-Infrared
DM (@QIOO

C:-Microwave
©6Rc@IcAT

D:-Radio waves
coUleO MEWEBRUY

Correct Answer:- Option-B
Question88:-In an object placed in front of a convex lens produces an image of equal size, where will the position of the object be?
8® eHMeQE HrIMBMilBeo gl eals) 8 mo@oﬂn&ao @ainiejajooilees @ollanisni aiclesmmeslcd mcrgoﬂﬂas)o oMo agallos@ocidless?

A:-Focus (F)

Ganoemil@d (F)

B:-Between Focus and Pole
Ga0@E®MIlvo Galdglnoo enswilad

C:-At center of curvature (at 2F)

QUG®d eo@ooied (2F-cd)

D:-between F and 2F
F aeo 2F o snsoi@d

Correct Answer:- Option-C
Question89:-Minor components of meat
20MOYOTIBEO LINRJARISB:6EBBUD

A:-Fatty Acid
andgl @milawy

B:-Lactic Acid
algls; @Rl

C:-Amino Acid
@nalemd @rymilay’

D:-Glycerol
¢florveooud

Correct Answer:- Option-C
Question90:-Metal contained in green
AN@IMBODIGD @RS E2I0a00

A:-Calcium
SHITITVY

B:-Iron
so@ml’

C:-Potassium
6ald30MVe
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D:-Magnesium
020y oty

Correct Answer:- Option-D
Question91:-Which is not true about cardiac muscle fiber
0B GalBl®Ealom auosninwlal LeElEPOm®

A:-Spindle shape
aadeuwl@d @Rl

B:-Involuntary
@REEOM.alldro

C:-Linear
CEEIIBI®o

D:-Branches out
06UBBOW] lldlsomal

Correct Answer:- Option-A
Question92:-Cell where Golgibodies are more likely to be seen
6UOUWdUTlENIOWIBU8 @@ BMOMISQYSS BB

A:-Cover art
@YUM BRI

B:-Glandular Art
@mndlsel

C:-Neurology
Mol

D:-Musculature
GalUBldal

Correct Answer:- Option-B
Question93:-The part that initiates the heartbeat
DB MYMBMOBIT SEHAIEBM B

A:-Right ventricle
QeI eamdsleslud

B:-Valves
Q@YU

C:-Left atrium
DS® aRSlWo

D:-Pacemaker
CalCTREHA

Correct Answer:- Option-D
Question94:-Sound receptors are located
WRENYWIOIBUB mxﬂ(uﬂmmq@cmrm‘

A:-Organ of Court
808UNM GBal @A

B:-Ampulla
@Ryoalpl

C:-Vestibule
s)mq};ﬂmléua

D:-Madhyakarnam
DWYBAB6Mo

Correct Answer:- Option-A
Question95:-Defect in electrical waves in the brain is the cause of disease.
:malcgorﬂoal 536)01(3&(07 (U)@eU'?GGB%E)S ®HOIOWE IO H06Mo

A:-Alzheimer's
@@ Had

B:-Epilepsy
@RaTYIe

C:-Parkinson
alodasladaruend

D:-Meningitis
eamleemiglny’

Correct Answer:- Option-B
Question96:-Who discovered nucleic acids?
Oleomlageud BOMROTIQ@IG?

A:-Darwin
awodallad

B:-James Watson
BV’ Q105 TVEM

C:-Friedrich Mischer
@O dlad

D:-Francis Crick
@Ml @y’

Correct Answer:- Option-C
Question97:-ECG : Heart :: EEG : ?
ECG : agswo :: EEG : ?

A:-Lungs
URIDMUCEH0UB0

B:-Brain
®RIG4J00

C:-Kidney
QYB

D:-Sushumna
Moy

Correct Answer:- Option-B
Question98:-A genetic disease
8@ BAOBHEEIN.

A:-Haemophilia
adleaoadlelo

B:-Anthrax
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D:-Typhoid
£6Seandlouwy
Correct Answer:- Option-A
Question99:-The causative agent of Curunab in banana
Qe@lerl &MY &:0eMaW EEINEG:IE!
A:-Insects
aHWalB6a3U3
B:-Bacteria
enoglelo
C:-Fungi
QNeNYBUB
D:-Virus
O6IOMY
Correct Answer:- Option-D
Question100:-'Nephridia' is related to which organism?
'omedulo’ ogo eflallgmow eimweagmosm?
A:-Cockroach
aldQ
B:-Frog
[OleV3]
C:-Earthworm
oepfle
D:-Spider
aggenoel
Correct Answer:- Option-C

12 of 12 Wednesday 25 September 2024 12:27 PM



